Submit completed application to: Kansas Department of Agriculture Division of Water Resources Field Office for your area. Call for address:

Topeka -- (785) 296-5733 Stafford -- (620) 234-5311 Stockton -- (785) 425-6787 Garden City -- (620) 276-2901 http://agriculture.ks.gov/dwr

## DWR FIELD OFFICE APPLICATION FOR APPROVAL TO CHANGE THE PLACE OF USE AND/OR THE POINT OF DIVERSION



## **STATE OF KANSAS**

## WATER METER REQUIRED

Filing Fee Must Accompany the Application, K.S.A. 82a-708b(b), as amended. Fee Schedule is on the third page of this application form.

ponit	3) OI UIV	ersion	ai iu/oi	piace	or use	•													CEIVED
						F	File No	. 3696	8										1:49am
																		AFR	0 4 2013
1. A	Application is hereby made for approval of the Chief Engineer to change the (check one or both):     Place of Use   Point of Diversion													Stafford Field Office					
										_								sion of	Water Resource
u	nder the	e water	right w	hich is	s the s	ubject	of this	applic	ation i	n acco	rdance	e with	the cor	ndition	s desc	ribed l	pelow.		
Т	he sour	ce of s	upply i	s:		⊠ G	Ground	water			Surfa	ce wat	er						
2. N	lame and address of Applicant: Scott Geesling																		
<u>3</u>	3491 N Hwy 14, Kingman KS 67068																		
P	hone N	umber:	(620)	532-60	021				Email	addre	ss: <u>sg</u>	eesling	a@yah	00.CO	n				<del></del>
Ν	lame ar	nd addre	ess of	Water	Use C	orresp	onden	t: Stev	ve Ge	esling								11	
3	491 N S	State Ro	oad 14	, Kingr	nan K	S 6706	8-804	3											
P	hone N	umber:	<u>(620)</u>	532-42	245				Email	addre	ss:								
	he pres	•																	
C	Owner of Land NAME: Steven L Geesling Trust																		
										n KS 6		8043							
(1	f there is	more th	an one	landov	vner, at	tach su	ppleme	ental she	eets as	neces	sary.)								
NE¼					NW1/4				SW¼					SE¼			TOTAL ACRES		
Sec.	Twp.	Range	NE1/4	NW1/4	SW1/4	SE1/4	NE1/4	NW¼	SW1/4	SE1/4	NE1/4	NW1⁄4	SW1/4	SE1/4	NE1/4	NW¼	SW1/4	SE1/4	ACRES
17	27S	W8	40	40	40	40			7										160
										1 414	411	<b>c</b>							
	this ap	•			•	•			-			ace or			-		Vooldri	dao D	ev Trusts
C	wner o									man K									
(1	f there is											00-004	Ю D.) I	-О во	X 10Z,	Olyssi	25 NO	07000	
	1 111010 10	more ti			C10 T0				70.00 W/O	1,0000		01/	1117			- CI	-1/		TOTAL
_	_		1544	NE		0544	NEW	NV		051/	NET		0)4/4	051/	NET		E1/4	051/	TOTAL ACRES
Sec.	Twp.	Range									NE %	NVV 1/4	SVV 1/4	SE1/4					226.4
	278	W8	27.7	29.3	30.4	27.9	30.1	28.3	30.3	31.3					20.7	25.8	24.7	19.6	326.1
A.) 17		W8	28.9	30.5	31.4	29.9	27.2	00.0	04.0	30.8									178.7
B.) 17	278	W8						28.3	31.6										59.9
																			Total = 564.7
							-											-	03.88

Presently auth	arinad paint of d					
One in the						-
One in the		Quarter of the		Quarter of the _	NC NE	Quarter
of Section	17	, Township	27	South, Range _	8	W,
		nty, Kansas, <u>3960</u>				
		_ Authorized Quantity _				
		No. 2 GP				
		☐This point will be change				
		Complete only if chang				
		Quarter of the				
f Section	17	, Township	27	South, Range _	8	VV,
		nty, Kansas, <u>3970</u>				
	-	_ Proposed Quantity _				
his point is:	Additional Well	☐ Geo Center List of	ther water righ	ts that will use this po	oint <u>None</u>	:
	orized point of c		*			
One in the		Quarter of the		Quarter of the _		Quarter
of Section	* 1	, Township		South, Range _		(E/W),
		nty, Kansas,				
Authorized Rate	e	_ Authorized Quantity _		Depth of well		(feet)
DWR use only	: Computer ID I	No GP	s	feet North	feet	West)
-		☐This point will be change				
		Complete only if chang				
		Quarter of the				
		, Township				
in	Cou	nty, Kansas,	_ feet North _	feet West	of Southeast co	rner of section.
Proposed Rate		_ Proposed Quantity _		Proposed well de	nth (feet)	
· · · -				Proposed Well de	pui (ieet)	
This point is: L	Additional Well	☐ Geo Center List o				
I his point is: L	Additional Well					
The changes h	erein are desired	Geo Center List o	ther water righ			
The changes he (please be spec	erein are desired ific) <u>Creating a cor</u>	Geo Center List o	ther water righ	ts that will use this po	oint	<u> </u>
The changes he spectoverlap amongs	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650,	Geo Center List of the following reason in plete place of use 30994, 36968, & 38988	ther water righ	ts that will use this po	orth	200 300
The changes he spectoverlap amongs	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650,	Geo Center List o	ther water righ	ts that will use this po	orth	200 300
The changes he please be specoverlap amongs while also addinger	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650, g acreage in the S	Geo Center List of the following reason in plete place of use 30994, 36968, & 38988	ther water righ	ts that will use this po	orth 0 100 2	200 300
The changes he please be spec overlap amongs while also addin	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650, g acreage in the S est hole log attach	Geo Center List of the following reason inplete place of use 30994, 36968, & 38988 is 1/4 of Section 16.	ther water righ	ts that will use this po	orth 0 100 2	200 300
The changes he please be specoverlap amongs while also addin	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650, g acreage in the S	Geo Center List of the following reason inplete place of use 30994, 36968, & 38988 is 1/4 of Section 16.	ther water righ	1s that will use this po	orth 0 100 2	200 300
The changes he preceded in the changes of the change in th	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650, g acreage in the S est hole log attach	Geo Center List of the following reason inplete place of use 30994, 36968, & 38988 is 1/4 of Section 16.	ther water righ	1s that will use this po	orth 0 100 2	200 300
The changes he proceed to the changes he spectoverlap amongs while also adding the farmed a well, is the tending the change (s) (see the change)	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650, g acreage in the S est hole log attache was)(will be) comp	Geo Center List of the following reason inplete place of use 30994, 36968, & 38988 is 1/4 of Section 16.	ther water righ	1s that will use this po	orth 0 100 2	200 300
The changes he please be spectoverlap amongs while also adding f a well, is the term of the change(s) (ASAP	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650, g acreage in the Sest hole log attachewas)(will be) compersion is a well:	Geo Center List of the following reason in the place of use 30994, 36968, & 38988 is 1/4 of Section 16.  ed? Yes No No pleted by?	s? 300 200	15 that will use this po	orth 0 100 2	200 300
The changes he spectoverlap amongs while also adding the change (s) (the change (s) (the point of divided the point of divided the change (s)	erein are desired ific) <u>Creating a cor</u> t File Nos. 29650, g acreage in the S est hole log attache was)(will be) comp	Geo Center List of the following reason in the place of use 30994, 36968, & 38988 is 1/4 of Section 16.  ed? Yes No No pleted by?	s? 300 200	1s that will use this po	orth 0 100 2	200 300
The changes he (please be spectoverlap amongs) while also adding the change (s) (the change (s) (the point of diverse) what are yet.	erein are desired ific) Creating a cort File Nos. 29650, g acreage in the Sest hole log attachewas)(will be) comparesion is a well: ou going to do with	Geo Center List o	s? 300 200	15 that will use this po	orth 0 100 2	200 300
The changes he (please be spectoverlap amongs) while also adding the change (s) (the change (s) (the point of divide). What are younger (a)	erein are desired ific) Creating a cor t File Nos. 29650, g acreage in the S est hole log attache was)(will be) comp version is a well: ou going to do with	Geo Center List o	s? 300 200	15 that will use this po	orth 0 100 2	200 300
The changes he please be spectoverlap amongs while also adding for a well, is the team of the change(s) (ASAP of the point of divide). What are your specific the point of divide).	erein are desired ific) Creating a cor t File Nos. 29650, g acreage in the S est hole log attache was)(will be) comp version is a well: ou going to do with	Geo Center List o	s? 300 200 100 West 0	15 that will use this po	orth 0 100 2	200 300
The changes he please be spectoverlap amongs while also adding farmed a well, is the team of the change (s) (a) What are younged.	erein are desired ific) Creating a cort File Nos. 29650, g acreage in the Sest hole log attachewas)(will be) compersion is a well: bu going to do with his be done? NA	Geo Center List o	s? 300 200 100 West 0	15 that will use this po	orth 0 100 2	200 300
The changes he please be spectoverlap amongs while also adding a well, is the test of the change(s) (ASAP)  If the point of dividing the well, what are young to the well the test of the well the well the	erein are desired ific) Creating a cort File Nos. 29650, g acreage in the Sest hole log attachewas)(will be) composersion is a well: ou going to do with his be done? NA	Geo Center List o	ther water rights?	15 that will use this po	orth 0 100 2	200 300
The changes he please be spectoverlap amongs while also adding a well, is the term of the change(s) (ASAP  If the point of divide the point of divide the point of the point o	erein are desired ific) Creating a cort File Nos. 29650, g acreage in the Sest hole log attachewas)(will be) compersion is a well: bu going to do with his be done? NA	Geo Center List o	ther water rights?	15 that will use this po	orth 0 100 2	200 300
The changes he (please be specoverlap amongs while also addin lf a well, is the team of the change(s) (to ASAP)  If the point of diversity (a) What are young to the change (b) When will the Groundwater attached?	erein are desired ific) Creating a cort File Nos. 29650, g acreage in the Sest hole log attachewas)(will be) composersion is a well: bu going to do with his be done? NA  Management	Geo Center List o	ther water rights?	N	orth 0 100 2	200 300
The changes he (please be specoverlap amongs while also addin lf a well, is the text the change(s) (the change(s) (the point of divided and the point of divided and the well t	erein are desired ific) Creating a cort File Nos. 29650, g acreage in the Sest hole log attachewas)(will be) composersion is a well: bu going to do with his be done? NA  Management	Geo Center List o	ther water rights?	No.   200   100   No.	orth 0 100 2	200 300 
The changes he (please be spectoverlap amongs while also adding the change (s) (the change (s)	erein are desired ific) Creating a cor t File Nos. 29650, g acreage in the S est hole log attache was)(will be) comp ersion is a well: bu going to do with his be done? NA  Management Yes No - SFFO	Geo Center List o	ther water rights?  300 200 100 100 100 100 100 100 100 100 1	200 100    100   1	orth 0 100 2 100 2 100 100 100 100 100 100 1	200 300
The changes he (please be specoverlap amongs while also addin If a well, is the text The change(s) (ASAP  If the point of div (a) What are you NA  (b) When will the Groundwater attached?  Assisted by TJS  If the proposed 300 feet but wit	erein are desired ific) Creating a cor t File Nos. 29650, g acreage in the S est hole log attache was)(will be) comp ersion is a well: bu going to do with his be done? NA  Management Yes No - SFFO  point of diversion hin 2,640 feet of the	Geo Center List o	ther water rights?  300 200 100 100 west 0	200 100    100   1	orth  0 100 2  =	200 300

feet of the existing point of diversion, indicate its location on the diagram shown above in relation to the existing point of diversion. (PLEASE NOTE: The "X" in center of diagram above represents the presently authorized point of diversion. diversion.)

one-half mile of the proposed point of diversion and the names and mailing addresses of the owners. For surface water sources, show the names and addresses of the landowner(s) one-half mile downstream and one-half mile upstream from

your property lines

14. If the proposed groundwater poi	nt of diversion is 300	or fewer feet from the ex	kisting point of diversion,	complete the following:
(a) Does the undersigned repre ☐ Yes ☐ No		e currently authorized plant of sign this application.)	ace(s) of use identified in	this application?
(b) Will the ownership interest affected if this application is ☐ Yes ☐ No	approved as request		ce(s) of use identified in	this application be adversely
(c) If this application is not app ☐ Yes ☐ No		will there be substantial of t sign this application.)	lamage to property, publi	c health or safety?
If the application proposes a surface or a change in place of use, the appl agent (attach notarized statement au	lication must be signe	ed by all owners of the cu	vater change in point of c urrently authorized place	liversion greater than 300 feet of use, or their duly authorized
I hereby verify, being first duly age and the owner, the spouse their behalf, in regards to the v contained in this application a	e of the owner, or a water right(s) to w re true, correct and	a duly authorized ago hich this application d complete.	ent of the owner(s) to n pertains. I further \	make this application on verify that the statements
Dated at	Kingman	_, Kansas, this	day ofMarc	2/1, 20
Store Georline				
(Owner) Steve Geest	/,		(Spous	e)
(Please Prin	nt)		(Please P	Print)
Edward Woolder	Ey e	<u> </u>		1
(Owner)		ngag eruthaan getytelûtelî izal.	(Spous	<b>e)</b>
Edward weeldni			/Diagon F	١٠:٠٠Δ١
(Please Pri	n)	to mercify series provide for A	(Please P	Augustikanno le advorado
(Owner)			(Spous	e) a
(Please Prir	nt)		(Please P	Print)
State of Kansas	) ss	SARA LYNN ADE	e of Kansas	
County of Kingman		My Appt. Expires 4/21/	2022	21
I hereby certify that the foreg	oing application wa	as signed in my pres	ence and sworn to be	efore me this <u>5</u> day
-		_d	~ 2yner	alch
My Commission Expires April	21,2022.		// Notary Pt	ADIIC
ONLY COMPLETE APPLICATIONS WIL accurate information; maps, if necessary, the appropriate fee must be paid.	L BE PROCESSED. To must be included; signa	be complete, all of the appatures of all the appropriate	olicable portions of the applic owners' must be affixed to t	ation form must be completed witl he application and notarized; and
		FEE SCHEDULE		
Each application to change the place forth in the schedule below: Make classification to change a	hecks payable to: Ka	f diversion under this se	griculture	
(2) Application to change a (3) Application to change th	point of diversion mo	re than 300 feet		\$200
	RECEIVED			
DWR 1-121 (Revised 04/5/2018)	APR 0 4 2019	Page 3		File No. <u>36968</u>

Page 3

Stafford Field Office
Livision of Water Resources

DWR 1-121 (Revised 04/5/2018)

File No. <u>36968</u>

## SUMMARY ORDER APPROVING APPLICATION FOR CHANGE AND IMPOSING CONDITIONS

pro Wit	ovisions of the Kansas Water Appropriation Law K.S.A. 82a-	18b, as amended, and K.A.R. 5-5-1, <i>et seq.</i> and other applicable 701 et. seq., and rules and regulations promulgated thereunder, ein, this Summary Order does not change the terms, conditions					
1.	A change application was received on April 4, 20 I diversion authorized under the above-referenced file number	requesting that the place of use and / or point of our be changed as described in the application.					
2.	On and after the effective date of this summary order, the a on the topographic map accompanying the application to o	uthorized place(s) of use shall be located substantially as shown change the place of use. 🛛 Applicable 🔲 Not Applicable					
3.	The change in point of diversion shall not impair existing right previously authorized. The point of diversion authorized be radius of the authorized point(s) of diversion.	nts and shall be limited to the same source or sources of water as y this summary order shall be located within a <b>foot</b> le Not Applicable					
4.	The point(s) of diversion described herein is administrative Positioning System (GPS), as described in the application	ely corrected to be more accurately described using the Global .   Applicable  Not Applicable					
5.	The point(s) of diversion authorized herein shall not actually authorized point(s) of diversion. ☐ Applicable ☒ N	be located more than feet from the previously ot Applicable					
6.	As required by K.A.R. 5-3-5d, if the works for diversion is a tube or other device suitable for making water level accordance with K.A.R. 5-6-13.	a well with a diversion rate of 100 gallons per minute or more, a measurements shall be installed, operated and maintained in ot Applicable					
7.	<b>December 31, 2019</b> , or before the first use of water, we operated and maintained in accordance with K.A.R. 5-1-	operly install an acceptable water flow meter on or before whichever occurs first. The water flow meter shall be installed, 4 through 5-1-12. As required by K.S.A. 82a-732, as amended, report the reading of the water flow meter and the total quantity of following the end of each calendar year.					
8.	Installation of the works for diversion of water shall be authorized extension of time. By March 1, 20 the works for diversion has been completed, on the form prov ☐ Applicable ☐ Not Applicable	completed on or before December 31, 20, or within any applicant shall notify the Chief Engineer that construction of the ided by the Chief Engineer, as required by K.A.R. 5-8-4e.					
9.	The completed well log shall be submitted with the requi	ired notice. ☐ Applicable         Not Applicable					
10.	with an in-line automatic quick-closing check valve cana	foreign substance will be injected into the water shall be equipped ble of preventing pollution of the source of the water supply. The ined in accordance with K.A.R. 5-3-5c. Applicable Not					
11.	. Additional Conditions are attached. $\square$ Yes $\square$ No						
12.	water appropriated under the above-referenced file number limitations, as amended and/or supplemented by this Sun Appropriation Law and the Rules and Regulations promu-	A.R. 5-5-14, all of the owners of the authorized place(s) of use of oper are responsible for compliance with its terms, conditions and nmary Order, and with applicable provisions of the <i>Kansas Water</i> algated thereunder. Failure to comply with these provisions may needed, and/or the suspension or revocation and dismissal of the ons authorized by law.					
	Administrative Appeal and Effective Date of Order	FOR OFFICE USE ONLY					
If v	you are aggrieved by this order, pursuant to K.S.A. 82a-1901,	APPLICATION APPROVED AND					
vou	u may request an evidentiary hearing before the Chief	SUMMARY ORDER ISSUED					
Ani	gineer or request administrative review by the Secretary of riculture. A request for hearing by the Chief Engineer must be	By: Duly Authorized Designee of the Chief Engineer					
file	ed within 15 days of service of this Order and a request for ministrative review by the Secretary must be filed within 30	Duly Authorized Designee of the Chief Engineer					
dav	vs pursuant to K.S.A. 77-531. Any request for administrative	(Print Name): Division of Water Resources - Kansas Department of Agriculture					
File	view must state a basis for review pursuant to K.S.A. 77-527. e any request with <b>Kansas Department of Agriculture</b> ,	Date of Issuance:					
<b>66</b> 8	gal <b>Ďivision, 1320 Research Park Drive, Manhattan, KS</b> <b>502</b> . Failure to timely request a hearing or review may eclude review under the Kansas Judicial Review Act.	State of Kansas )					
	For Use by Register of Deeds	County of ) SS					
		Acknowledged before me on					
		by					
		Signature:Notary Public					
	RECEIVED						
	· · · · · · · · · · · · · · · · · · ·	My commission expires:(Notary Seal)					
	APR <b>0 4</b> 2019	re 4 File No. 36968					

Page 4

Stafford Field Office

DWR 1-121 (Revised 04/5/2018)

File No. \_\_\_\_36968\_



